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B.A. Semester III (Honours) Examination, 2018-19
POLITICAL SCIENCE

Course ID: 30814 Course Code : AHPLS-304GE-3
Course Title: Introduction to Comparative Government and Politics
Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 2x5=10
@ I Al 2AeF TR wie ¢
(a) What do you mean by Parliamentarian form of Government?
AT ¥ ] Ao ol I @RI
(b) What is Political Party?
GG Wel P A0 2
(c) What is meant by representation?
elfeffig I T2
(d) Give a definition of democratic system.
ereifEs IR IS WS |
(e) Point out two merits of bi-party system.
fawets <EE qh e SwEe 9|
(f) Mention two reasons for centralising tendencies in a federal state.
@3 JSAG IR (™ A0 4o IR0 S I |
(g) What is Globalisation?
[SRIROICE
(h) Point out two characteristics of a unitary government.
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2. Answer any four questions: 5%4=20
@ I BIF0 2vas el WS ¢
(a) Define authoritarian regime. What are its characteristics?
FOGETF APHAIZIA TRE W6 | 97 [EpE & 2

(b) Write a short note on the merits of a federal state.
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(c) Discuss the merits and demerits of multiparty system.
I FIET s [eRd 59|

(d) Discuss the methods of comparative political analysis.
GERETE AGATOF SN G OT2 S T4 |

(e) What is the changing nature of nation-states in the context of globalisation?
T sifcafce @i qiE agfore 1 oo 2mee

(f) What are the major functions of political parties?
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3. Answer any one question: 10x1=10
@ ] G0 osE Ted ie ¢

(a) Give a comparative study about the salient features of the Parliamentary System in UK

and the Presidential System in USA.

(off TG AR *PT IR e N Je1@g Agsifo=nhre «ivm g Io @i
i]ﬁ WeTellefe<P ICeTIDe] 4|

(b) Write a note on the proportionate representation.
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